SEEH—4
SEEERIERE R (GEPDEC X DG O 5 & B A)



ESIEE : 0.86 cd/m?
EEDIEE : 0.30 cd/m2
KIRDFERE : 0.65 cd/m2

20 FEfREFDIEREE - 0.65 cd/m?

EEIEE : 0.48 cd/m?
EEDIERE : 0. 15 cd/m2
KARDFIERE : 0.38 cd/m?

20 FEfREFDIEREE - 0.36 cd/m?

HByERE - 0.25 od/m2
BEDIERE : 0.09 cd/m2
KIRDFEE - 0. 16 cd/m2

20 ERREFDOFERE : 0.19 cd/m?

LEE4EE - 0.14 cd/m?
BEDNERE : 0.07 cd/m2
KIRDIERE - 0. 11 cd/m2

20 EREDOIEE : 0. 11 cd/m?




EENEE . 0.83 cd/m?
BEDIEE : 0.23 cd/m2
RIBOFEE : 0. 11 cd/m?

20 FEREFDIEE : 0.59 cd/m?

EENERE : 0.48 cd/m?
BEDYERE : 0.15 cd/m2
KARDIERE : 0.08 cd/m2

20 ERBFOIEE : 0.35 cd/m?

0o PHEVEE - 0.25 cd/m2
s BEDFERE : 0.10 cd/m?
2 KERDIEE : 0.06 cd/m?

3.0

2= 20 ARSI ¢ 0.18 od/n?

ES¥EE :0.13 cd/m?
BEDIERE : 0.07 cd/m2
KIRDFEE : 0.05 cd/m2

20 EREFEOIERE - 0. 11 cd/m2




FIR KBS UT, BR:ER. KR : X

20 Ix

| ERIEE : 0.14 cd/m?

s BEDFERE : 0.25 cd/m2

) RERDIERE : 0.62 cd/m2

20 EREFONERE : 0. 15 cd/m?

10 Ix

EEWEE :0.10 cd/m?
BEDYERE - 0.18 cd/m2
KIRDIEE : 0.41 cd/m2

20 EREBOMEE : 0.11 cd/m2

EE¥EE - 0.06 cd/m?
BEDFERE : 0.09 cd/m2
KIRDFIEE : 0. 17 cd/m2

20 EREFDOFEE : 0.07 cd/m?

EEHERE : 0.05 cd/m?
BEDIERE : 0.07 cd/m2
KARDFIEE : 0. 10 cd/m2

20 EREFDOIEE : 0.05 cd/m?






